LZipg’s_List@E [L_: Q_: P_] .=
Module[{g, z, zs, c, ys, 15, 1t, zrule, L1, L2, Q1, Q2},
zs = Table[Z*, {&, {5}1;
c=1L/.Alternativesee ({s|Jzs) -» 0;
ys = Table[&: (L /. Alternatives @@ zs » @), {Z, ¢5}1];
ns = Table[d, (L /. Alternativesee s » 0), {z, zs}];
1t = Inverse@eTable[KS, ¢+ - 0,,cL, {E, {5}, {2z, 25}];
zrule = Thread[zs -» 1t. (zs +ys) ];
L2 = (L1 =c+ns.zs /. zrule) /. Alternatives @@ zs - 0;
Q2= (Q1=Q/.U21 /. zrule) /. Alternatives @ee zs - 9;
CF /@ E[L2, Q2, Det[1t] e™"*"¥
Zipy [e*% (P /. V21 /. zrule)]] //. 12U |;



